—_

2022-2023 ZEFEE _FHEFRUSBTILE 2-2
AR Z LA A

(15 43) 50 =R 22,2 + ax,? + 2x32 + 2x1%, + 2x1X5 + 2x,%3 = 3 B IERTL,

X1 V1
‘f%%?ﬁ%(%) =T (}’z)%?'ﬂ[‘ﬁﬂ?ﬁylz + y,%2 4+ bys? =3, Ka, bBME N IERZFEFET o

X3 V3

(15 73) BPAKIR, PP 4

vV, = {(; —Zx) |x,y,z € P}, V= {(—aa lc)) |a, b,c € P}

(DUER: vy, Vo3 g P2*21 73 ],
(2) KV +V, SV, NV, 4% S — 43t

-1 1 0
A=|1-1 3 0
1 0 2

SRARVFAIEZ TS B/ 2 UL K JordanbstET .

(15 43) WHRE

(15 40) SREBT= = £ = Zoea e = et i R

-3

(15 93 Wo REUEP FZME RV &AL #, TfLo? = o,
(DIEH: V =0W) @ o71(0);
(2)UEM: FHrVh 5ol L # i Z A8, Wo(v), o~ (0) ¥ NTIIAZE T 43 .

(15 49) SRS + 2 — 25 = 1 -4k TOHITR 210 B REAR 2 SR 7

(10 43) WAANMY IE 56, B AnMY 2 1E e 5604, IEM: |A + B| = |A| + |B|,
M HAVYB = 045 0T,



